ATTACH TO TRUSS W/ ENGINEERED TRUSSES REVISIONS
w ATTACH PER TRUSS UPLIFT .
(@) 131°X3 114" TOE NALLS < GENERAL NOTES:
B
ANCHOR TABLE
TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN ACCORDANCE WITH THE
2010 FBCR. TRUSS ENGINEERING SHALL INCLUDE TRUSS DESIGN, PLACEMENT PLANS, TEMPORARY AND OBTAIN UPLIFT REQUIREMENTS FROM TRUSS
H3 EACH OUTLOOKER PERMANENT BRACING DETAILS, TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR MANUFACTURER'S ENGINEERING
ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE TRUSS MANUFACTURER
AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S DESIGN ENGINEER. IT IS THE BUILDER'S UPLIFT LBS. SYP | UPLIFTLBS. SPF |  TRUSS CONNECTOR* T RITR
ROOF SHEATHING RESPONSIBILITY VERIFY THE TRUSS DESIGNER FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO DTLATIY [ TORNRERIRIS e
7/16" 0SB UNBLOCKED SEE STRUCTURAL PLAN SELECT UPLIFT CONNECTIONS BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR < 420 < 245 H5A 3-8d 3-8d
NAILED TO ROOF FRAMING w/ .113" X 2 3/8" INTERIOR BEARING WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
RING SHANK NAILS @ 6" OC ON EDGES & TRUSS x REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS WITH MIN UPLIFT < 455 < 265 H5 4-8d 4-8d
INTERMEDIATE SUPPORTS 4" OC ON GABLES @ILETAZ CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END. < 300 < 295 v e o
PRE-ENGINEERED WOOD ROOF TRUSSES wi (8) 16d TO HEADER SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN < 455 < 320 H3
AT 24" 0.C. SELECT TRUSS CONNECTORS & (B) 16d TO POST = it ARCHITECTURAL DESIGN SOFTWARE
FROM THE ANCHOR TABLE FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET < 415 < 365 H2.5 5-8d 5-8d
PER TRUSS UPLIFT LOADS — - GRAVITY LOAD REQUIREMENTS (ASSUME 1000 PSF BEARING CAPACITY UNLESS e o T —~ =
8x8 2 POS 7 ]
! S B s VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE — e — . -
(2) 2x4/6 SPF#2 DOUBLE TOP PLATE :?g%’:‘a‘in?ﬁ@os. - CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 3000 PSI. i
- ' . < 745 < 565 Ha 5-10d, 11/2" |  5-10d, 1 1/2"
TRUSS TO TOP PLA WELDED WIRE REINFORCED SLAB: 6" x 8" W1.4 x W1.4, FB = 85KSI|, WELDED WIRE REINFORCEMENT FABRIC
E (4) 131"X3 1/4" TOE NAILS ,/, (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE OF THE SLAB; SUPPORTED WITH APPROVED < Ue < 1050 H14-1 13-8d 12-8d, 11/2"
EXTERIOR SHEATHING % // MATERIALS OR SUPPORTS AT SPACINGS NOT TO EXCEED 3" < 1465 < 1050 H14-2 15-8d 12-8d, 11/2"
? FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER REINFORCEMENT. < 890 < 850 H10-1 8-8d, 11/2" 8-8d, 11/2"
SPH4/6 @ 32" O.C. i (= FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75 TO 1.5 POUNDS PER CUBIC YARD = e
&~ PER THE MANUFACTURER'S RECOMMENDATIONS. FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER H10-2 6-10d 6-10d
. SiiSS NUBT BE GONTINUOUS TO PROVIDE ASTM C 1116 CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL. < 1470 < 1265 H16-1 10104, 112'|  2-10d 112"
:E#} Pmi}ﬂ_;;;gi?;lggs c 24" MAX J . Z ESEVREAE_NSEOP%%OF < 1470 < 1265 H16-2 10-10d, 11/2'|  2-10d, 1 1/2"
1 . W
. D CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL BE CUT IN - -
TOP BLOCKING WITH CODE BER BT A ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB PLACEMENT. THE LENGTH / < 10 < 860 MTS24C 7-10d 112 7-10d 1112
PPROVED SEALANT GRADE WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT < 1450 < 1245 HTS24 12-10d11/2" | 12-10d 1 1/2*
— CUT WWM OR REINFORCING STEEL. (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO
SEE FOUNDATION PLAN Lo OWNER AND CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT CRACKS < 2900 < 2490 2-HTS24
P BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.)
NOTE: IF TRUSS BEARING LOAD - < 2050 < 1785 LGT2 14 -16d 14 -16d
EXCEEDS 425 PSI USE SYP #2 REBAR: ASTM A 615, GRADE 60, DEFORMED BARS, FY = 60 KSI. ALL LAP SPLICES 40 * DB (25" FOR #5 BARS);
TOP PLATES; IF IT EETI%: GSBBSL%ngs - Y PORCH POS T UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN ACCORDANCE WITH ACI 315-96, U.N.O. HEAVY GIRDER TIEDOWNS* TO FOUNDATION
ADD ADDITIONAL B
USE SIMPSON TBE BEARING ENHANCER (TYP.) GABLE WALL w/ VAULTED CEILING (TYP.) Al ol Ty
B — — = Tl . ONE STORY WOOD GLULAM BEAMS:  GLULAM BEAM, GLB, 24F-V3SP, Fb = 2.4ksi, E = 1800ksi; UNO. SUPPLIER MAY SUPPLY AN < 3945 < 3330 MGT 22-10d 12* EMBEDMENT
WOOD FRAME ALTERNATE BEAM WITH EQUAL PROPERTIES OR MAY SUBMIT THEIR OWN SIZING CALCS.
| ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS; 7/16" OSB SHEATHING, UNBLOCKED, : 2-5/8" THREADED ROD
2x4/6 SPF#2 PRECUT STUDS ; APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING MEMBERS, WITH PANEL EDGES 1. % 8 HAT-2 18-30d 12" EMBEDMENT
SEE STUD TABLE OPTION: 1 (BUC OPTION: 2 (POCKETED) STAGGERED, FASTENED WITH 8d COMMON NAILS (.131), 6°0C PANEL EDGES, 12"0C INTERMEDIATE -
’/ FOR OVERHANGES 12"-24" USE A DROPED GABLE TRUSS WITH ; MEMBERS, GABLE ENDS AND DIAPHRAGM BOUNDARY; 4"0C, UNO. < 10530 < 9035 HGT-3 16 -10d 2-5:;32“TEIKHRBE&]D§€NF;OD
2X4 QUTLOOKER @ 24" O.C. w/ H2.5a TO GABLE TRUSS AND .
Phoizt: | STRUCTURAL CONNECTORS:  MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS, ANCHORS,
{4) 131 3.25" NAILS TO 2nd TRUSS (BLOCK BETWEEN OUTLOOKER) - — AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT. AN EQUIVALENT DEVICE OF THE < 9250 < 9250 HGT-4 16 -10d 2-5/8" THREADED ROD
— (2) 2X_ SYP#2 TOP PLATE IF TRUSS TO BEAM SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED FOR ANY DEVICES LISTED IN THE EXAMPLE 12" EMBEDMENT
7/16" 0.5.B. WALL SHEATHING 2X4 LOOKOUT BLOCKING @ 24" O.C. : m&s" A;EH NARLED ‘Th?gTa_sle&sl éﬁga Sg T|TB EIE:E-I[E JEE Ei%‘ﬁ@ﬁ?g 1\_!?3 ?23?%1555 MANUFACTURER'S INSTALLATION STUD STRAP CONNECTOR® Yo RTine
FULLY BLOCKED “OCNA - .
8d COMMON NAILS CORNM.SRAONS (4) .131"X3 1/4" : ARE NOT REQUIRED ) <45 S 435 SSP DOUBLE TOP PLATE 3-10d 4-10d
o 1 D IS e tan NARE . ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN DRAWINGS BUT NO
3" oG EDGE, aei ¥ N\ HUC410 L (2)MTS12 LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR 15" IN GROUTED CMU. < 455 < 420 SSP SINGLE SILL PLATE 1-10d 4 -10d
UNLESS OTHERWISE NO 4 7 d |
ON STRUCTURAL FLAN | 3"NoTCH— SPH_@ ' WASHERS: WASHERS USED WITH 1/2* BOLTS TO BE 2" x 2" x 9/64"; WITH 5/8" BOLTS TO BE 3' x 3" x 9/64"; WITH i i DSPDOUBLETOPFLATE | 8-1d 8-10d
12" ! 48" 0C % 3/4" BOLTS TO BE 3" x 3" x 9/64"; WITH 7/8" BOLTS TO BE 3" x 3" x 5/16"; UNO. < 825 < 600 DSP SINGLE SILL PLATE 2-10d 8-10d
MAX
(4) 131°X3 1/4" : BEAM NAILS: ALL NAILS ARE COMMON NAILS UNLESS OTHERWISE SPECIFIED OR ACCEPTED BY FBC TEST < 885 < 760 SP4 6-10d, 1 1/2°
INSTALL 2X4 SPF#2 DIAGONAL BRACE NAILS ! POCKETED REPORTS AS HAVING EQUAL STRUCTURAL VALUES. < 1240 < 1065 P -
" CONCRETE FLOOR SLAB REINFORCED AND NAIL TO BLOCKING AT TOP CHORD & : BENEATH SPH4 10-10d, 1 1/2
WITH 6X6-1.4/1.4 WELDED WIRE MESH BOTTOM CHORD AND RAT RUN @ 6' O.C. ! TOP PLATE < 885 < 760 SP6 6100, 1 172"
PLACED ON CHAIRS AT 1 1/2" DEPTH OR ” " . DIAGONAL BRACE MUST i ]
FIBER MESH CONCRETE, 6-MIL POLY VAPOR FOE & 12 O.C. FIELD BE NAILEDTO TRUSS WEBS ! (DROPPED BEAM) wll =i =1085 SPHe 10-10d, 1 172"
BARRIER WITH 6" LAPS SEALED WITH FOR LENGTHOVER 12'IT < 1235 < 1165 LSTA18 14-10d
POLY TAPE OVER TERMITE-TREATED ATTACH RAT RUN TO MAY BE *T* BRACED UP BEAM TSC; Egﬁ g::s
AND COMPACTED FILL BLOCKING w/ TO 12' AND UNBRACED g (2) 2% : THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE < 1235 < 1235 LSTAZ1 16-10d
SPH4/6 @ 32" O.C. ISR T LS 1313 147 UPTO7 : \ SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK. = = o e
2%4/6 P.T. PINE SOLE PLATE ANCHORED TOE NAIL TRUSS { S asraane . CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND < 1705 <1705 cae b
w/ 1/2"X10" ANCHOR BOLTS, TO TOP PLATE ! BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
2X2X.140" STEEL WASHER 12d @ 6" 0.C = | STUD ANCHORS* TO STUDS TO FOUNDATION
@ 32" O.C. & 8" FROM CORNERS o i | PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY WITH 2010 FBCR
SMPSON LETAZY ! REQUIREMENTS FOR THE STATED WIND VELOCITY AND DESIGN PRESSURES. < 1350 < 1305 LTT18 8-16d 112" AB
Y T WALL _E’S‘&‘S'ER&T&”L'; m’ 1313 14" NAILS " PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU <2519 i LTTI31 18-10d, 1 1/2° 112" AB
& (9)-16d TO WALL ' (2) SPH_ . BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL - ~ -
: (4) 131"X3 1/4" NAILS e B B PAYE THE WIND LOAD ENGINEER IMMEDIATELY.
: ! i < 4175 < 3695 HTT16 18 - 16d .
(8) .131"X3 1/4" NAILS 1/2" ANCHOR VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS il
' 4 SPF#2 BLOCKING 2" WASHER DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS, < 1400 < 1400 PAHD42 16-16d
> WITHIN 3" OF STUD PACK TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL
ONE STORY WALL SECTION H3 INSTALLED HORIZONTALLY e ARG e ' < 3335 < 3335 HPAHD22 16-16d
e S | .
S 24" = 10" : I < 2200 < 2200 ABU44 12-16d 3
SCALE: 3/4" =10 SPACE RAT RUN & DIAGONAL BRACE 6'-0" 0.C. : ik
FOR GABLE HEIGHT UP TO 25'-0" 110 MPH, EXP. C, ENCLOSED < 2300 < 2300 ABUEE 12-16d 12" AB
EAM TO WALL MASONRY NOTES: L < 2320 < 2320 ABUSS 18 - 16d 2-5/8" AB
(TYP.) GABLE BRACING DETAIL 1YP.)B T R MASONRY CONSTRUCTION AND MATERIALS FOR THIS PROJECT SHALL i _
WOOD FRAME - e WOOD FRAME w/ STRAPS & ANCHORS g - CONFORM TO ALL REQUIREMENTS OF "SPECIFICATION FOR MASONRY PE No 53015, POB 865, Lake Gl, FL.
e e - STRUCTURES" (ACI 530.1/ASCE 6/TMS 602). THE CONTRACTOR AND MASON 32056, 386-754-5419 '
' ' | MUST IMMEDIATELY, BEFORE PROCEDING, NOTIFY THE ENGINEER OF
: SPH_@ 48" OC : ! "
: -8 ANY CONFLICTS BETWEEN ACI 530.1-02 AND THESE DESIGN DRAWINGS. ROOF SYSTEM DESlGN ootk —
SPH4/6 ALL OPENINGS (UN.O.) | ANY EXCEPTIONS TO ACI 530.1-02 MUST BE APPROVED BY THE ENGINEER dimenslons. Refes il questions o
i , IN WRITING. THE SEAL ON THESE PLANS FOR COMPLIANCE WITH 2010 FBCR, SECTION Naik Tiissewiy. P.E: for sokition:
/ | 1 = - R301.2.1 1S BASED ON REACTIONS, UPLIFTS, AND BEARING LOCATIONS IN Do not proceed without clarification.
A ] . ! L ! t ACI530.1-02 Section Specific Requirements TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. IT IS
8d3"0C @ PANEL EDGES - SPH_@ 48" OC | 0 i C e ahronth 8 block bear s Fr = 1500 o5 THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE COPYRIGHTS AND PROPERTY RIGHTS:
8d 12° OC NOT @ PANEL E E — — R \ : : : : zxs SYP #2 GARAGE DOOR BUCK ATI-ACHMENT 1'4A Oll.rlpress“"'e S eng O anng walls m= psl COMPLETE ROOF SYSTEM DES!GN SUBM'TTED BY THE TRUSS Mark Disosway. P.E. hereby BKDI’ESSIY reserves
= RWALL (6) .131"X3 1/4" TOE NAILED ' 0 ¥ ATTACH GARAGE DOOR BUCK TQ STUD PACICAT 2.1 Mortar ASTM C 270, Type N, UNO MANUFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN its common law copyrights and property right in
/—E}(TERIO [ |- il PAC Grout ASTM C 476, admi : | PROFESSIONAL FOR CORRECT APPLICATION OF 2010 FBCR REQUIRED these instruments of service. This document is
OR BACK NAILED THRU ! EACH SIDE OF DOOR OPENING WITH 3/8"x4" LAG 2.2 rou S , admixtures require approva LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO not to be reproduced, altered or copied in any
r KING STUD INTO HEADER ; , H- LSTA18 @ 48" OC 1 e rﬁ%HRﬁzRoLﬁg fgga\gssggmgf 2.3 CMU standard ASTM C 90-02, Normal weight, Hollow, REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF form or manner without first the express written
0sB | Syt agssae S TRANSFER LOAD. CENTER LAG SCREWS OR LHOEdEilum dsm:réac;ezﬁnisr;, 8“":;%?1 6;' running g;igmneﬁ r?EV‘gB'I:lOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL e i &
" NOTE: : NOTE: STAGGER 16d NAILS OR (2) ROWS OF .131 x 3 1/4" nd an "x12" or 16"x16" column ) ILDER SHOULD USE CARE CHECKING THE ROOF : :
8d 3* OC @ PANEL EDGES [f IF TRUSS TO WALL STRAPS ARE NAILED ! IF TRUSS TO TOP PLATE STRAPS ARE B block DESIGN BECAUSE THE WIND LOAD ENGINEER IS SPECIFICALLY NOT i e e e
-131"X3 1/4” NAILS 6" OC 8d 3" OC THIS STUD |F TRUSS TO TOP PLATE STRAPS ARE : IS NAILED TO TOP PLATES w/ 8d 3" OC DOOR WIDTH | 3/8" x 4" LAG | cracGeR | 131 x 3 1/4* GN 5.5"%2.75"x11.5" RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED comply with saction R301.2.1, 2010 Florida
5 . v . i Building Code Residential
0SB FOR SHEAR TRANSFE INSTALLED ON THE EXTERIOR SIDE OF (NAILING MAY BE STAGGERED) & SHEATHING m— . TRUSS SHEETS i Db
\ _* THE WALL & SHEATHING , IS NAILED TO HEADER w/ (2) ROWS OF T P = Py 24 Reinforcing bars, #3 - #11 ASTM 615, Grade 60, Fy = 60 ksi, Lap : on iy knowisoge.
) 1 7 'r 8d 3" OC @ PANEL EDGES Is NA:I';ED TOYTB%PST:GTIE: R\:’DBld&S; I-?EA s ! 8d @ 6" OC SPH_ & LSTA18 ARE NOT REQUIRED e s i splices min 48 bar dia. (30" for #5) LIMITATION: This design is valid for ane
" NAILING MA' A . = : : - - - ildi : -
\ A S OEHOR R PAMRLEUGES Es NAILED TO HEADER w/ (2) ROWS OF : 11'-15 18*0.C. 4'0C. 4'0.C. 2.4F Coating for corrosion protection | Anchors, sheet metal ties completely bullding, st specified "’:'f‘_“:"-
; 8d @ 6" OC SPH_ARE NOT REQUIRED : : . : . embedded in mortar or grout, ASTM e
. N - o A 1 IR | | o S P L 16'- 18 16" 0.C. 3'0.C. 3"0.C. '
\—2x FULL HEIGHT STUDS (TYP.) | e Tt P [ i e =S A = A525, Class G60, 0.60 oz/ft2 or 304SS DESIGN DATA
> ] | | [ ] 1% ]
INTERIOR SHEARWALL — - : WINDOW SILL P'-ATEE : ! i i A 2.4F Coating for corrosion protection | Joint reinforcement in walls exposed to =
131°X3 1/4° NAILS 12" OC ' (PER TABLE BELOW) | ! ¥ X X iolétire or wife fiss;, Anchors; shest métal WIND LOADS PER 2010 FLORIDA BUILDING CODE RESIDENTIAL, SECTION R301.2.1
TOE NAIL ENDS OF EACH PLY w/ . ' i | ties not completely embedded in mortar or (ENCLOSED SIMPLE DIAPHRAGM BUILDINGS WITH FLAT, HIPPED, OR GABLE ROOFS;
1/2" GWB UNBLOCKED —————* 2x4 = (4) .131"x 3.25" NAILS ! N L) ' ASTM A153 z/ft2 MEAN ROOF HEIGHT ' '
oo 8d 3° OC @ PANEL EDGES 246 = (6) .131" x 3.25" NAILS I ¥ i ' I gro:;ghsg SRS
; | =(6). x 3. | ! or BUILDING IS NOT IN T
7" OC EDGE 10" OC FIELD #d 12" OC NOT @ PANEL EDGES N il l ! ¥ ) ' HE HIGH VELOCITY HURRICANE ZONE
] ] I N 3 F . N
CRIPPLES IF REQUIRED : 1 X X T 3.3E2 | Pipes, conduits, and accessories | Any not shown on the project drawings BUILDING IS NOT IN THE WIND-BORNE DEBRIS REGION
(1 Y i ! N ' it require engineering approval. 1.) BASIC WIND SPEED = 130 MPH, (3 SEC GUST, 33 FT, EXP. C)
! OPTION: 2 (DROPPED HEADER) 3.3.E.7 | Movement joints Contractor assumes responsibility for type 2.) WIND EXPOSURE = C, BUILDER MUST FIELD VERIFY
SPH4/6 ALL OPENINGS (U.N.O.) | D RVNARL : and location of movement joints if not e T T
/V ! SILL PLATE SPANS FOR 10'-0" WALL HEIGHT detailed on project drawings. ) = 10, ST FIELD VERIFY
. T D ey 4) BUILDING CATEGORY = Ii, (MRl = 700 YR)
’ j WINDSPEED | (1)2x4 | (2)2xd | (1)2x6 | (2)2x6 | "OLEAS28 5.) ROOF ANGLE = 7-45 DEGREES
) : \_an g | " _Aqn
(TYP.) INTERSECTING WALL FRAMING TYPICAL HEADER STRAPING DETAIL | e e | 5o | ve |Eamema GARAGE DOOR BUCK INSTALLATION DETAIL 51 MEANROGR HEGHTF O FY
- — ——— e ———————————————— e I i T = SPAN SHALL BE =
e 2 — e i e atis ANCHO?; : e T ST | o | oo Bv i) ——— 7.) INTERNAL PRESSURE COEFFICIENT = N/A (ENCLOSED BUILDING)
- i ; . - . . 8.) COMPONENTS AND CLADDING DESIGN WIND PRESSURES (TABLE R301.2(2))
TOP PLATE SPLICE NAILING @ TOP PLATE TO STUD
A.‘/ 48" MIN. SPLICE LENGTH E1f§'13 )'*(':'1'} fi;ﬁg NAIL e Kendall V
1/2" GWB UNBLOCKED w/ (16) .131"X3" NAILS \ 131" » SPH_ Zone |Effective Wind Area (f2
131°%3 1/4* NAILS 12° OC ] 5d COOLER NAILS q (2) FOR 2X4 CHANGE IN PLATE HEIGHT m ) en a arney
. 7 0C EDGE 10° OC FIELD (3) FOR 2X6 INSTALLED HORIZONTALLY Residence
(4) FOR 2X8
(5) FOR 2X10 L .
o (2) 2X_SYP#2 TOP PLATE i
sa \ 2 NAILED TOGETHER w/ 2 I8 g | /@":{ Y Buy) N
21 ruut ke sTuos rve)—l| | S A EXTERIOR WALL STUD TABLE GRADE & SPECIES TABLE R AT y 4
1 | e e :
)/‘. —\ FOR SPF #2 STUDS : — P 7o,
8d 3" OC @ PANEL EDGES / i b o Fb (psi) | E (10" psi) 2 |43 |46 =R/ SSSWﬁESSL
b I (| =211 ona Loop
. : " g 5 |43 |s7 P :
8d 12" OC NOT @ PANEL EDGES K i by \ (1)2x4 @ 16" OC TO 10'-1" STUD HEIGHT 2%8 SYP #2 1200 16 \L o Lake City, FL 32055
e E e e - Sy e ) Garada Déor Yok Om Q./ )
STUD PACK g diN \
UNDER POINT LOAD (1)2x4 @ 12'OC | TO 112" STUD HEIGHT i SYP#2 o 16 2010 FBCR, s AW Mark Disosway P.E.
IDE R NALEACHPLY =~ 12 p—— 975 6 Table R301.2.(4) EXAMINEY P.O. Box 868
@ 6' OC STAGGERED : 2 16" TO 15-7" ST 8x7 Garage Door |37 |-42 Lake Clty, Florida 32056
| (1)26@ 16°0C 15-1 STUR HEIGHT GLB| 24F-V3SP | 2400 1.8 .
: 16x7 Garage Door (36  [-40 Phone: (386) 754 - 5419
1/2" GWB UNBLOCKED .
5d COOLER NAILS (1)2x6 @ 12" OC TO 17'-3" STUD HEIGHT LSL | TIMBERSTRAND | 1700 1.7 Fax: (386) 269 - 4871
7" OC EDGE 10" OC FIELD DESIGN LOADS
LVL MICROLAM 1600 19 PRINTED DATE:
y THIS STUD HEIGHT TABLE IS PER 2012 WFCM, TABLE 3.20B4, FLOOR 40 PSF (ALL OTHER DWELLING ROOMS) / March 29. 2012
7 EXTERIOR LOAD BEARING & NON LOAD BEARING STUD LENGTHS PSL PARALAM 2900 20 30 PSF (SLEEPING ROOMS) !
. anE - FOR WALLS WITH OSB EXTERIOR AND 1/2" GYP INTERIOR / DRAWN BY: STRUCTURAL BY:
2X_FULL HEIGHT STUDS (TYP.) — l S e e T RESISTING INTERIOR ZONE WINDLOADS, 130 MPH, EXPOSURE C, 30 PSF (ATTICS WITH STORAGE) / ' '
7 ' i ¥ STUD DEFLECTION LIMIT H/240 (NOT OK FOR SOME BRITTLE FINISH?). F
7 v / ' X L STUD SPACINGS SHALL BE MULTIPLIED BY 0.8 FOR FRAMING 10 PSF (ATTICS WITHOUT STORAGE, <3:12) TINALS DATE
i 0sB NAILING @ SILL PLATE TO STUD | | LOCATED WITHIN 4 FEET OF CORNERS FOR END ZONE LOADING. - ;
131°X3 1/4" NALLS 12" 6| 84 3* OC @ PANEL EDGES END NAIL OR TOE NAIL K (END ZONE EXAMPLE 16" 0.C. x 0.8 = 12.8" 0.C.) HOUE 20FEF (CENROR-2) ofiE 29Mar12
131°X3 114" NAILS b 16 PSF (4:12 TO <12:12) PUIANC
~Y 8d 12" OC NOT @ PANEL EDGES (3) FOR 2X4 i i : K CQM
(4 FOR 26 ¥ b 12 PSF (12:12 AND GREATER) : JOB NUMBER:
5) FOR . | :
EG; FOR2X10 | X STAIRS 40 PSF (ONE & TWO FAMILY DWELLINGS) oy 1202076
R {1 ) I
DE C ER / i 5 ) SOIL BEARING CAPACITY 1000PSF DRAWING NUMBER
1
>~ 1 NOT IN FLOOD ZONE (BUILDER TO VERIFY) S 1
(TYP.) CORNER FRAMING (TYP.) WALL CONNECTIONS WHTHiN 6+ EACH SIDE D )
e YN S
WOOD FRAME ONE STORY WOOD FRAME CRFFLATE JORNE SO0 ) OF 3 SHEETS




